[ Efficiency vs vertpos |
- 0.2

T ISR e e
o F : : :
U L S
016
§0.14
Q
50.12
0.1
0.08
0.06
0.04
0.02

.............................................

...........................................

..........................................

|||||||1||?|||||||||||||||

Y L
o +OF
= E+
@ E T-
g : St HE AR
+ <+
-+ T . [ Y
<+
B L T

107 1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TTbhase
Efficienq —— poM_mkFit_TT_retrainOldFiles125_v2_prelimWP_5iter

~ 0.1

L (R SRS S S S

2000
2 0.08F------ P A SRS S S
> E : . . " .
LC) F N :
SO.07F oo
2 F : :
£0.06f oo
5] E : :
L
0.04F -+t
0.03F+berp-
0.02F i
0.0 4H]-
o 10p——thy
g F
@ 1. .
£ LTl L

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.7 : " T T T T
> : : : : : :
8000+ of it s
IS : : : : : :
R B N T
£0.07
2y
< 0.06
[} : :
o : : : : :
2 0.05F b
9} : : : : :
0.04
003 i bbb
O FEREE S SEEL S SR L
Y0 SR T N O S O e

Ratio

R T 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


